GSE Algebra 2

Name:

Unit 3B — Polynomial Roots 3B.7 -

Test Review #2

Date:

. 1. Verify that (x+3)is a factor of
f(x)=x*+9x*+18
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2. Given the factors, determine all of the
x-intercepts of: f(x) =x(x—-3)(2x-5)

3. Given the zeros, -3, 5, and 2i,
a. What are the facfors of the polynomial2
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4. Given the zeros, 0, — 4, /3, — /3,
Q. What are the facfors of the polynomial?
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b. Whot is ﬂje standard form of the b. Whatis the standard form of the
polynomial2 polynomial?
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Find all of the indicated Zeros, roofs, solutions, or factors:
HERe3
5. fix)=x*-125 6. flx)=2x* +3x3 — 22

factors:
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Find all of the indicated zeros, roots, solutions, or factors:

7 f(x)=x3—7x2+16x—12

Factors: L —d (X—)(N—2 )

8. f(x)=3x3—llx2—9x+50

Roofs: X\ = O [\
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9. f(x)=x“—x3+x2-7x—42

Solutions: e ”Sll 2= Lﬁ

10. f(x):2x‘+3x3—30x2—15x+100

Zeros:\x‘l"q\ 3/3 ‘r \r%
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1. f(x)=x4+2x3—7x2—8x+12
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19 f(x)=x“—6x3—3x2—24x—28
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